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Cours SystCours Systèèmes mes MultiMulti--AgentsAgents –– TD/TP TD/TP 

TP 1 TP 1 -- SampleSample Model: Wolf Model: Wolf SheepSheep PredationPredation

�� ControllingControllingControllingControllingControllingControllingControllingControlling thethethethethethethethe Model: ButtonsModel: ButtonsModel: ButtonsModel: ButtonsModel: ButtonsModel: ButtonsModel: ButtonsModel: Buttons
�� If If youyou likelike, , experimentexperiment withwith thethe ""setupsetup" and "go" buttons in " and "go" buttons in 

thethe Wolf Wolf SheepSheep PredationPredation model. model. 

�� Do Do Do Do Do Do Do Do youyouyouyouyouyouyouyou everevereverevereverevereverever getgetgetgetgetgetgetget differentdifferentdifferentdifferentdifferentdifferentdifferentdifferent resultsresultsresultsresultsresultsresultsresultsresults if if if if if if if if youyouyouyouyouyouyouyou runrunrunrunrunrunrunrun thethethethethethethethe model model model model model model model model 

severalseveralseveralseveralseveralseveralseveralseveral timestimestimestimestimestimestimestimes withwithwithwithwithwithwithwith thethethethethethethethe samesamesamesamesamesamesamesame settingssettingssettingssettingssettingssettingssettingssettings? ? ? ? ? ? ? ? 

� On constate les rOn constate les rOn constate les rOn constate les réééésultats suivants :sultats suivants :sultats suivants :sultats suivants :
� Tantôt disparition des 2 populationsTantôt disparition des 2 populationsTantôt disparition des 2 populationsTantôt disparition des 2 populations

� Tantôt disparition des loupsTantôt disparition des loupsTantôt disparition des loupsTantôt disparition des loups

� Tantôt survie des 2 populations avec relativement peu de loupsTantôt survie des 2 populations avec relativement peu de loupsTantôt survie des 2 populations avec relativement peu de loupsTantôt survie des 2 populations avec relativement peu de loups
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Cours SystCours Systèèmes mes MultiMulti--AgentsAgents –– TD/TP TD/TP 

TP 1 TP 1 -- SampleSample Model: Wolf Model: Wolf SheepSheep PredationPredation

Quelques observations :Quelques observations :

�� Au dAu déébut :but :
�� la courbe de population des loups suit celle des moutons la courbe de population des loups suit celle des moutons 

�� plus il y a de moutons plus il y a de loupsplus il y a de moutons plus il y a de loups

�� Puis :Puis :
�� plus il y a de loups moins il y a de moutons plus il y a de loups moins il y a de moutons 

�� Les loups sont effectivement de bons prLes loups sont effectivement de bons préédateurs de moutonsdateurs de moutons

�� Enfin :Enfin :
�� SoitSoitSoitSoitSoitSoitSoitSoit extinction des moutons => extinction des loupsextinction des moutons => extinction des loups

�� SoitSoitSoitSoitSoitSoitSoitSoit trop peu de moutons => les loups meurent de faim et trop peu de moutons => les loups meurent de faim et 
extinction des loups (extinction des loups (qqqq fois il en survit fois il en survit qqsqqs uns) mais survie des uns) mais survie des 
moutons => explosion de la population car plus (ou presque moutons => explosion de la population car plus (ou presque 
plus) de prplus) de préédateursdateurs
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Cours SystCours Systèèmes mes MultiMulti--AgentsAgents –– TD/TP TD/TP 

TP 1 TP 1 -- SampleSample Model: Wolf Model: Wolf SheepSheep PredationPredation

Pourquoi des rPourquoi des réésultats diffsultats difféérents drents d’’une simulation une simulation àà
ll’’autre ? autre ? 

Sachant que : Sachant que : 

�� Même conditions initiales Même conditions initiales sauf position initiale des moutons et sauf position initiale des moutons et 
des loupsdes loups alalééatoireatoire

�� Même item comportementaux des loups et des moutons sauf Même item comportementaux des loups et des moutons sauf 
ququ’’ils sont ils sont probabilistesprobabilistes

⇒⇒ Comportement du systComportement du systèème est difficile me est difficile àà prpréédire cardire car

�� le systle systèème est un systme est un systèème complexe, du aux nombreuses me complexe, du aux nombreuses 
interactions interactions 

�� le systle systèème est sensible aux conditions initialesme est sensible aux conditions initiales
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Cours SystCours Systèèmes mes MultiMulti--AgentsAgents –– TD/TP TD/TP 

TP 1 TP 1 -- SampleSample Model: Wolf Model: Wolf SheepSheep PredationPredation

AdjustingAdjustingAdjustingAdjusting SettingsSettingsSettingsSettings: : : : SlidersSlidersSlidersSliders and Switches, Let's and Switches, Let's and Switches, Let's and Switches, Let's experimentexperimentexperimentexperiment withwithwithwith

theirtheirtheirtheir effecteffecteffecteffect on on on on thethethethe behaviorbehaviorbehaviorbehavior of of of of thethethethe modelmodelmodelmodel....

�� Open Wolf Open Wolf SheepSheep Predation if it's not open Predation if it's not open alreadyalready. . 

�� PressPress ""setupsetup" and "go" and let " and "go" and let thethe model model runrun for about a 100 for about a 100 timetime--ticksticks. . 
(Note: (Note: therethere isis a a readoutreadout of of thethe numbernumber of of ticksticks right right aboveabove thethe plot.) plot.) 

�� Stop Stop thethe model by pressing model by pressing thethe "go" "go" buttonbutton. . 

�� WhatWhatWhatWhatWhatWhatWhatWhat happenedhappenedhappenedhappenedhappenedhappenedhappenedhappened to to to to to to to to thethethethethethethethe sheepsheepsheepsheepsheepsheepsheepsheep overoveroveroveroveroveroverover time?time?time?time?time?time?time?time?

�� Let's Let's taketake a look and a look and seesee whatwhat wouldwould happenhappen to to thethe sheepsheep if if wewe change change oneone
of of thethe settingssettings. . 

�� TurnTurn thethe ""grassgrass?" ?" switchswitch on. on. 

�� PressPress ""setupsetup" and "go" and let " and "go" and let thethe modelmodel runrun for a for a similarsimilar amountamount of of timetime as as 
beforebefore. . 

�� WhatWhatWhatWhatWhatWhatWhatWhat diddiddiddiddiddiddiddid thisthisthisthisthisthisthisthis switchswitchswitchswitchswitchswitchswitchswitch do to do to do to do to do to do to do to do to thethethethethethethethe modelmodelmodelmodelmodelmodelmodelmodel? ? ? ? ? ? ? ? 

�� WasWasWasWasWasWasWasWas thethethethethethethethe outcomeoutcomeoutcomeoutcomeoutcomeoutcomeoutcomeoutcome thethethethethethethethe samesamesamesamesamesamesamesame as as as as as as as as youryouryouryouryouryouryouryour previouspreviouspreviouspreviouspreviouspreviouspreviousprevious runrunrunrunrunrunrunrun????????
Stabilise le modèle

La population de moutons 
diminue après avoir augmenté
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Cours SystCours Systèèmes mes MultiMulti--AgentsAgents –– TD/TP TD/TP 

TP 1 TP 1 -- SampleSample Model: Wolf Model: Wolf SheepSheep PredationPredation

Read Read thethe contents of contents of thethe Information tabInformation tabInformation tabInformation tabInformation tabInformation tabInformation tabInformation tab……………………

�� WhatWhat wouldwould happenhappen to to thethe sheepsheep population if population if therethere waswas more more 
initial initial sheepsheep and and lessless initial initial wolveswolves atat thethe beginningbeginning of of thethe
simulation? simulation? 

�� TurnTurn thethe ""grassgrass?" ?" switchswitch off. off. 

�� Set Set thethe ""initialinitial--numbernumber--sheepsheep" " sliderslider to 100. to 100. 

�� Set Set thethe ""initialinitial--numbernumber--wolveswolves" " sliderslider to 20. to 20. 

�� PressPress ""setupsetup" and " and thenthen "go". "go". 

�� Let Let thethe model model runrun for about 100 for about 100 timetime--ticksticks. . 

�� TryTry running running thethe model model severalseveral timestimes withwith thesethese settingssettings..

WhatWhatWhatWhatWhatWhatWhatWhat happenedhappenedhappenedhappenedhappenedhappenedhappenedhappened to to to to to to to to thethethethethethethethe sheepsheepsheepsheepsheepsheepsheepsheep population?population?population?population?population?population?population?population?

DidDidDidDid thisthisthisthis outcomeoutcomeoutcomeoutcome surprise surprise surprise surprise youyouyouyou????

Extinction des moutons !

Oui !
explication: initialement bcp de moutons conduit à tellement 
de loups qu’ils ne peuvent plus disparaître
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Cours SystCours Systèèmes mes MultiMulti--AgentsAgents –– TD/TP TD/TP 

TP 1 TP 1 -- SampleSample Model: Wolf Model: Wolf SheepSheep PredationPredation

Read Read thethe contents of contents of thethe Information tabInformation tabInformation tabInformation tabInformation tabInformation tabInformation tabInformation tab…………………… suitesuite

WhatWhatWhatWhatWhatWhatWhatWhat otherotherotherotherotherotherotherother sliderssliderssliderssliderssliderssliderssliderssliders or or or or or or or or switchesswitchesswitchesswitchesswitchesswitchesswitchesswitches cancancancancancancancan bebebebebebebebe adjustedadjustedadjustedadjustedadjustedadjustedadjustedadjusted
to help out to help out to help out to help out to help out to help out to help out to help out thethethethethethethethe sheepsheepsheepsheepsheepsheepsheepsheep population? population? population? population? population? population? population? population? 

Peu de moutons au départ implique la survie des moutons !

=> Sensibilité aux conditions initiales des systèmes complexes
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Cours SystCours Systèèmes mes MultiMulti--AgentsAgents –– TD/TP TD/TP 

TP 1 TP 1 -- SampleSample Model: Wolf Model: Wolf SheepSheep PredationPredation

Read Read thethe contents of contents of thethe Information tabInformation tab…… suitesuite

�� Set "Set "initialinitial--numbernumber--sheepsheep" to 80 and "" to 80 and "initialinitial--numbernumber--wolveswolves" " 
to 50. (This to 50. (This isis close to close to howhow theythey werewere whenwhen youyou firstfirst openedopened
thethe modelmodel.) .) 

�� Set "Set "sheepsheep--reproducereproduce" to 10.0%. " to 10.0%. 

�� PressPress ""setupsetup" and " and thenthen "go". "go". 

�� Let Let thethe modelmodel runrun for about 100 for about 100 timetime ticksticks. . 

WhatWhat happenedhappened to to thethe wolveswolves in in thisthis runrun? ? 

�� Poursuivre le tutorial jusquPoursuivre le tutorial jusqu’’au dau déébut de but de «« ControllingControlling thethe
ViewView »» (ne pas (ne pas éétudier tudier TheThe sizesize of of thethe viewview ……))

Loups en augmentation, puis extinction des loups
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Cours SystCours Systèèmes mes MultiMulti--AgentsAgents –– TD/TP TD/TP 

TP 1 TP 1 -- EtudeEtude, analyse des mod, analyse des modèèles les «« cas dcas d’é’écolecole »»

�� CatCatéégorie gorie biologiebiologie ::

�� «« ANTSANTS »» : : 

�� Lire Lire «« information tabinformation tab »»

�� Jouer avec le modJouer avec le modèèlele

-- Dans le code (onglet ProcDans le code (onglet Procéédure) retrouver la moddure) retrouver la modéélisation des lisation des 

comportements avec architecture comportements avec architecture àà subsomption vus en cours sur subsomption vus en cours sur 

ll’’exemple de la rexemple de la réécolte de minerai colte de minerai 

-- Modifier le code : changer la position des sources de nourritureModifier le code : changer la position des sources de nourritures, s, ……

�� CatCatéégorie gorie biologiebiologie : : 

�� «« AIDSAIDS »»

�� CatCatéégorie sciencesgorie sciences sociales :sociales :

�� «« partyparty »», , 

�� «« segregationsegregation »», (, (notnot verifiedverified) ) «« rebellionrebellion »» et et scatterscatter

Commentaires
Sur ces différentes 

applications


